OLYMPIC VALLEY PUBLIC SERVICE DISTRICT PROGRESS PAYMENT REPORT

EXHIBIT # D - 9 7 Pages

PROJECT TITLE:	Washeshu Creek Stream Gage	e Proje	ect	DAVA	DATE: MENT ESTIMATE #		07/31/2025
PROJECT NUMBER:	10-00-150076			1 ATT	ALIVI EOTAMATE #		
CONTRACTOR NAME & ADDRESS:	UES Professional Solutions 30 PO Box 735409 Chicago, IL 60673-5409	0, LLC			PERIOD:	Jur	ne - July 2025
BID AMOUNT: NET CHANGE ORDERS: ADJUSTED CONTRACT WORK COMPLETED: % WORK COMPLETED:	The second secon	-		RE TIM	RIGINAL TIME: EVISED TIME: ME ELAPSED: ME ELAPSED:		N/A
		P	REVIOUS	Cl	JRRENT		TO DATE
EARNINGS: Work Completed Retention on Wo Net Earning Materials on Han Retention on Ma	rk Completed s on Work Completed	\$	12,360.00	\$	2,817.50 - 2,817.50	\$ \$ \$	15,177.50 15,177.50
	s On Materials	\$	-	\$	-	\$	-
TOTAL NET	EARNINGS	\$	12,360.00	\$	2,817.50	\$	15,177.50
DEDUCTIONS: 1. 2. 3. Total Deduc	tions	\$	-	\$		\$ \$ \$	-
OTHER ADJUSTME 1. Release Ref 2. 3.						\$ \$ \$ \$, - - - -
Total Adjus	tments	\$	_	\$	-	\$	
LESS P PAYME		\$	12,360.00	\$	2,817.50	\$ \$	15,177.50 (12,360.00) 2,817.50
APPROVED BY:	Dave Hunt, District Engineer Charley Miller, General Manage	er					



6995 Sierra Center Parkway, Reno, NV 89511

OLYMPIC VALLEY PUBLIC SERVICE DISTRICT DAVE HUNT PO BOX 2026 OLYMPIC VALLEY, CA 96146

INVOICE

Please Make Payable To: UES Professional Solutions 30, LLC

Remit To: PO BOX 735409, Chicago, IL 60673-5409

Billing Questions Contact: arwest@universalengineering.com

Invoice Date:

July 31, 2025

Project Number: Invoice Number:

A25173.00208.000 0352501289REV1

PO Number:

0352501289R

TERMS: Net 30 Days

We accept ACH and Credit Card

(American Express, Visa, Master Card, Discover)
Where permitted by law, we charge 3.00% for credit card

payments

Project

A25173.00208.000

Washeshu Creek Stream

Location:

Olympic Valley

Olympic Valley, CA 96146

Professional Services from June 23, 2025 to June 30, 2025

Phase

4140

Environmental Support

Task

0001

Site Selection & Permitting Assistance

Professional Personnel

	Hours	Rate	Amount
Administration	1.00	85.00	85.00
Staff Professional i	3.75	150.00	562.50

Totals

4.75

647.50

Total Labor

647.50

Total this Task

\$647.50

Task

0003

Operations and Maintenance

Professional Personnel

	nours	nate	Amount
Principal	.50	250.00	125.00
Staff Professional II	5.25	160.00	840.00

Totals

5.75

965.00

Total Labor

Total this Task

965.00 \$965.00

Total this Phase

\$1,612.50

Total this Invoice

\$1,612.50

Work completed includes initial site reviews, review of new Washeshu Creek at County Bridge location, review of existing Instrumentation, establishment of temporary water stage measurement reference point at South Fork Washeshu Creek, field measurements of stream discharge at South Fork and North Fork gage sites and beginning of rating curve development.

Project	A25173.00208.000	Washeshu Creek S	tream Gaging- E	NV	Invoice	0352501289REV
Billing	Backup				Thursday, J	luly 31, 2025
UES Professional Solutions, Inc.		Invoice	Invoice 0352501289 Dated 7/31/2025			1:40:12 PM
Project	A25173.00208.	000 Washeshu C	reek Stream			
Phase	4140	Environmental Suppo	ort	DE REDUCE BOOKE GROOM STANDS MANUAL MANUAL	ENCOR SARRY BRESS START MARKET START WAS	and the way over
ask	0001	Site Selection & Perm	ner seeds didn't black states distall from	ssa hotdurk 650360 Streethi bassuur darbest Medicor	MEANING SECURE ACCORDS MARRIED AND DATE	NA MINER BEIGN BYTES BEIGN
-	al Personnel		nting / ibblotarioo			
			Hours	Rate	Amount	
Adminis VOOTEN, S		6/17/2025	1.00	85.00	85.00	
Staff F	Professional I	6/26/2025	3.75	150.00	562.50	
	site selection reports Totals		4.75		647.50	
	Total Labor					647.50
				Total this T	ask	\$647.50
	Tes enter least seem passe home 6000 8000 6000	Oppositions and Maint	Street below \$6000 \$8000 \$8000 \$1000 \$	MATERIAL PRODUCT RANGES MATERIAL SECURI	NAMES BASIN MASTER, BERTHA PRACES SCHOOL M	MARKE Militar diseller. Allecte stronito
Task	0003	Operations and Maint				
	al Personnel		Hours	Rate	Amount	
Principa SMITH, DW		6/17/2025	.50	250.00	125.00	
	Coordination					
Staff Pro THOMAS, D	rofessional II DARREN	6/21/2025	5.25	160.00	840.00	
	streamflow measurer	ments				
	Totals		5.75		965.00	
	Total Labor					965.00
				Total this Task Total this Phase		\$965.00
						\$1,612.50
			Total this Project		Project	\$1,612.50
				Total this Report		



5 Sierra Center Parkway, Reno, NV 89511

OLYMPIC VALLEY PUBLIC SERVICE DISTRICT DAVE HUNT PO BOX 2026 **OLYMPIC VALLEY, CA 96146**

INVOICE

Please Make Payable To: UES Professional Solutions 30, LLC

Remit To: PO BOX 735409, Chicago, IL 60673-5409

Billing Questions Contact: arwest@universalengineering.com

Invoice Date:

July 31, 2025

Project Number: Invoice Number: A25173.00208.000 0352501289REV2

PO Number:

TERMS: Net 30 Days

We accept ACH and Credit Card

(American Express, Visa, Master Card, Discover) Where permitted by law, we charge 3.00% for credit card

payments

Project

A25173.00208.000

Washeshu Creek Stream

Location:

Olympic Valley

Olympic Valley, CA 96146

Professional Services from July 1, 2025 to July 31, 2025

Phase

4140

Environmental Support

Task

0001

Site Selection & Permitting Assistance

Professional Personnel

Principal

Hours 1.50

Rate 250.00 **Amount**

1.50

375.00 375.00

Totals **Total Labor**

Total Labor

375.00

Total this Task

\$375.00

Task

0003

Operations and Maintenance

Professional Personnel

	Hours	Rate	Amount
Staff Professional I	1.00	150.00	150.00
Staff Professional II	4.25	160.00	680.00
Totals	5.25		830.00

830.00

Total this Task

\$830.00

Total this Phase

\$1,205.00

Total this invoice

\$1,205.00

Work completed Includes initial site reviews, review of new Washeshu Creek at County Bridge location, review of existing instrumentation, establishment of temporary water stage measurement reference point at South Fork Washeshu Creek, field measurements of stream discharge at South Fork and North Fork gage sites and beginning of rating curve development.

Project A25173.00208.00	00 Washeshu Creek S	tream Gaging- E	ENV	Invoice	0352501289REV
Billing Backup				Thursday	luk 21 2025
UES Professional Solutions, Inc. Invoice 0352501289 Dat		Thursday, July 31 ated 7/31/2025 1:40:		1:40:12 PM	
Project A25173.002	08.000 Washeshu Cr	reek Stream			
Phase 4140	Environmental Suppo	rt	-		
Task 0001	Site Selection & Perm	itting Assistance	Э		
Professional Personnel					
		Hours	Rate	Amount	
Principal	7/17/2025	1.50	250.00	375.00	
SMITH, DWIGHT Site Selection Mem		1.50	230.00	373.00	
Totals		1.50		375.00	
Total Lal	bor	1100		0.0.00	375.00
			Total ti	his Task	\$375.00
Task 0003	Operations and Mainte	enance			
Professional Personnel					
		Hours	Rate	Amount	
Staff Professional I THOMAS, DARREN	7/16/2025	1.00	150.00	150.00	
resume update, field p					
Staff Professional II					
THOMAS, DARREN	7/18/2025	4.25	160.00	680.00	
washeshu creek gagi	ng				
Totals		5.25		830.00	
Total La	abor			8	30.00
			Total this Task		\$830.00
					\$1,205.00 \$1,205.00
			Total this Project Total this Report		# 1,A44.00

D-9_UES_Progress Payment

Final Audit Report 2025-08-20

Created:

2025-08-20

By:

Ashley Massey (amassey@ovpsd.org)

Status:

Signed

Transaction ID:

CBJCHBCAABAA3IjuPcY0pP12fNe2QNMqwSMAhUGse3_B

"D-9_UES_Progress Payment" History

- Document created by Ashley Massey (amassey@ovpsd.org) 2025-08-20 6:30:23 PM GMT
- Document emailed to Dave Hunt (dhunt@ovpsd.org) for signature 2025-08-20 6:30:28 PM GMT
- Email viewed by Dave Hunt (dhunt@ovpsd.org) 2025-08-20 - 7:36:21 PM GMT
- Document e-signed by Dave Hunt (dhunt@ovpsd.org)

 Signature Date: 2025-08-20 7:36:52 PM GMT Time Source: server
- Agreement completed.
 2025-08-20 7:36:52 PM GMT